IoF

1 A13422020000056

G0
ol

[9p) [9p) [9p) [9p) [9p) [9p) [9p) wn v v wn
= = = = = = = = = = =
~ S S S S S S S S S S S
S |0 ||| ||| |||
10f 10g 10d 10g 10d 10d 10d 10d 10d 10d 10d
or o o o o o o o o o o o
- () o () o S S S S (e} (e} [}
g8l 8|8|&8|s8|3|3|83|8|8]|Es8
no
ar
I
= <H e 0H < il ol Kq ] i) S rr
o | K| o ¥ | R | M W | 20 | a0 | R | R | 0
W | ® | 3r | A0 | S| r | 5| A0 Rl | 5| =
gw
-2
—=
!
.7
=0
no= = = = = = = = = = = =
0™
m
)
~
S
ps
g
80—
—X
D
[l
W ad|la|la|la|la|lal|lal|la|a | a | 3
= =z | =|l=|l=|=5|=s=|=s|=|=5|5|5
oF)
ok
s Hio Hio Hi0 Hio Hi0 i Hio Hio Hio Hio fio
a0 o o o o o o o mo| o | o | o
w | | w | w | ®w | w | w® | ® | ®|@®|®
:m o | ok | ok | ok | wF | lF | ook | ok | wF | b | -
_ﬁ_v% g |lol|lo|lo|lo|lo|o|ls || oo
~|l~|l=~]~|~|~|~|~|~|=~|~m~
[ [ep) [ep) [ep) [ep) [ep) [ep) [ep] [ep] [ep] [ep]
st | T b o o b i o o o o o
(o] — — — — — — — — — — —
%: () () () () () () () (e} (e} (e} (e}
& & & & & & & & & & &
g1zl slalalalalalalalalsa
Al Al Al Al Al Al Al [V} (e} (e} (e}
. — [aN] ™ < Te) © N~ © (o)) = -

il
<t

1/13



=

cgy | saaszs [sanmz| GAORY | oe |ERL|dhen ®En Lh (2
2019-01-23| JIEt 333 Jhel N Ol XH =t 5000
2019-01-23| JIEt 2333 Jh el N F=R=DN; 5000
2019-01-23| JIEt 333 Jhel N =P, 30000
2019-01-28( DJIEt = JA3Z JHQ! N zIME 10000
2019-01-28( JIEt = JA3Z JHQ! N ZHE 10000
2019-02-18| DJIEt = RA3Z JHQ! N sld= 10000
2019-02-25( JIEt =433 JHQ! N gte 10000
2019-02-25( DJIEt = RASZ JHQ! N SRSk 10000
2019-02-25( JIEt =433 JHQ! N HH Xl = 10000
2019-02-25( DJIEt =A3S Jhel N gr=et 3000
2019-02-25( JIEt =A3S JHQ! N 0l=3 5000
2019-02-25( DJIEt =A3S Jhel N golg 3000
2019-02-25( JIEt =A3S Jhel N S 10000
2019-02-25( DJIEt =A3S JHQ! N ZUE 10000
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cgy | saaszs [sanmz| GAORY | oe |ERL|dhen ®En Lh (2
2019-04-24| DJIEt S 333 Jhel N B2 et 3000
2019-04-24| DJIEt S AS3 Jh el N RAFSES 5000
2019-04-24| DJIEt SAS3 Jhel N olg 3000
2019-04-24 | DJIEt = RASZ JHQ! N E3H 10000
2019-04-24 | DJIEt = RASZ JHQ! N ZHE 10000
2019-04-24 | DJIEt = RASZ JHQ! N 013 OH 10000
2019-04-24 | DJIEt = RASZ JHQ! N Né&t= 10000
2019-04-24 | DJIEt = RASZ JHQ! N Ol X st 5000
2019-04-24( DJIEt =A3S Jhel N F=R=2DN; 5000
2019-04-24( DIEt =A3S Jhel N RPN 30000
2019-05-17| JIEt =A3S JHel N sld= 10000
2019-05-23( JIEt =A3S Jhel N gte 10000
2019-05-23( JIEt =A3S Jhel N A= 10000
2019-05-23( JIEt =RA3S JHQ! N ESNE 10000
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cgy | saaszs [sanmz| GAORY | oe |ERL|dhen ®En Lh (2
2019-05-23| JIEt 333 Jhel N BH Kl = 10000
2019-05-23| JIEt 2333 Jh el N BtEet 3000
2019-05-23| JIEt 333 Jhel N RAFSES 5000
2019-05-23| JIEt =3=S JHQ! N el 3000
2019-05-23( JIEt =&A=S JHQ! N St 10000
2019-05-23| JIEt = RA3Z JHQ! N 013 OH 10000
2019-05-23| JIEt = RASZ JHQ! N Né&t= 10000
2019-05-23| JIEt = RASZ JHQ! N Ol X st 5000
2019-05-23( JIEt =A3S Jhel N F=R=2DN; 5000
2019-05-23( JIEt =A3S JHQ! N dHT 30000
2019-05-29( JIEt =A3S JHQ! N e 10000
2019-06-19( JIEt =A33 Jhel N sld= 10000
2019-06-24| JIEt =A3S Jhel N A= 10000
2019-06-24| JIEt =A3S JHQ! N ESNE 10000
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cgy | saaszs [sanmz| GAORY | oe |ERL|dhen ®En Lh (2
2019-06-24| JIEt 333 Jhel N HH Xl = 10000
2019-06-24| JIEt 333 Jh el N BtEet 3000
2019-06-24| JIEt SA33 Jhel N RAFSES 5000
2019-06-24| JIEt =3=S JHQ! N el 3000
2019-06-24| JIEt =A=S JHQ! N St 10000
2019-06-24 | JIEt = RA3Z JHQ! N ZHE 10000
2019-06-24 | DJIEt = RASZ JHQ! N 013 OH 10000
2019-06-24 | DJIEt = RASZ JHQ! N Né&t= 10000
2019-06-24( JIEt =A3S JHQ! N Ol XH 2t 5000
2019-06-24( JIEt =A3S Jhel N F=R2DN; 5000
2019-06-24( JIEt =A3S JHel N =P, 30000
2019-06-24| JIEt =A3S Jhel N gte 10000
2019-07-22( JIEt =A3S Jhel N sld= 10000
2019-07-24( DJIEt =A3S Jhel N SR 10000
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A S H

e o soa=x =o = | Hlgelgeol 23k | JIRS =o o
=B Ql SAI2==2 2 T o SR oA = 0H (L
96 |2019-07-24| DIttt =JA3S Jhel N PN 10000
97 |2019-07-24| DIttt =JA3S Jhel N g2 et 3000
98 |2019-07-24| DIttt =JA3S Jhel N AR N 5000
99 |2019-07-24( DJIEt =RA3ZS Jhel N olg 3000
100 [2019-07-24| DIEt =3 3S Jhel N S EH 10000
101 |12019-07-24| DIEt ZEA3Z JHel N ZUE 10000
102 [2019-07-24| DIEt =JA3S Jhel N 01 Z OH 10000
103 [2019-07-24| DJIEt =JA3S Jhel N Nat= 10000
104 |12019-07-24| DIEt T3S Jhel N Ol TH st 5000
105 |2019-07-24| DIEt FTASS Jhel N F=R2 PN 5000
106 |2019-07-24| DIEt FTASS Jhel N RPN 30000
107 |12019-07-26| DIEt FTASZ Jhel N ESPAES 10000
108 |2019-08-19| DIEt FASZ Jhel N old= 10000
109 |2019-08-23| DIEt FASZ Jhel N = 10000
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e o soa=x =o = | Hlgelgeol 23k | JIRS =o o
=B Ql SAI2==2 2 T o SR oA = 0H (L
110 [2019-08-23| DJIEt =33 Jhel N ESPAESS 10000
111 [2019-08-23| JIEt =3 3S Jhel N HH Xl = 10000
112 [2019-08-23| JIEt =3 3S Jhel N g2 et 3000
113 [2019-08-23| JIEt =JA3S Jhel N RAFSES 5000
114 [2019-08-23| JIEt =3 3S Jhel N olg 3000
115 [2019-08-23| JIEt =3 ZS Jhel N S EH 10000
116 [2019-08-23| JIEt =JAZS Jhel N 01 Z OH 10000
117 [2019-08-23| JIEt =JAZS Jhel N Nat= 10000
118 12019-08-23| DIEt A3 Jhel N Ol TH st 5000
119 12019-08-23| DIEt FASZ Jhel N F=R2 PN 5000
120 |12019-08-23| DIEt FASZ Jhel N RPN 30000
121 12019-08-26| DIEt FTASZ Jhel N 20 10000
122 12019-09-18| DIEt FTASS Jhel N old= 10000
123 |12019-09-25| DIEt FASZ Jhel N = 10000
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e o soa=x =o = | Hlgelgeol 23k | JIRS =o o
=B Ql SAI2==2 2 T o SR oA = 0H (L
124 |2019-09-25| DJIEt =3 3S Jhel N ESPAESS 10000
125 [2019-09-25| DJIEt =3 3S Jhel N HH Xl = 10000
126 [2019-09-25| DJIEt =3 3S Jhel N g2 et 3000
127 [2019-09-25| DJIEt =3 3S Jhel N RAFSES 5000
128 [2019-09-25| DJIEt =3 3S Jhel N olg 3000
129 [2019-09-25| DJIEt =3 3S Jhel N S EH 10000
130 [2019-09-25| DJIEt =JAZS Jhel N 01 Z OH 10000
131 [2019-09-25| DJIEt =JAZS Jhel N Nat= 10000
182 12019-09-25| DIEt T3S Jhel N Ol TH st 5000
133 |12019-09-25| DIEt FASS Jhel N F=R2 PN 5000
134 12019-09-25| DIEt FASZ Jhel N RPN 30000
135 |12019-09-27| DIEt FTASZ Jhel N 20 10000
136 |2019-10-17| DIEt FTASS Jhel N old= 10000
137 12019-10-23| DIEt FASS Jhel N = 10000
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e o soa=x =o = | Hlgelgeol 23k | JIRS =o o
=B Ql SAI2==2 2 T o SR oA = 0H (L
138 [2019-10-23| JIEt =33 Jhel N A= 10000
139 [2019-10-23| JIEt =3 3S Jhel N HH Xl = 10000
140 [2019-10-23| JIEt =3 3S Jhel N g2 et 3000
141 [2019-10-23| JIEt =JA3S Jhel N RAFSES 5000
142 [2019-10-23| JIEt =JA3S Jhel N olg 3000
143 [2019-10-23| JIEt =3 3S Jhel N S EH 10000
144 |2019-10-23| JIEt =JA3S Jhel N 20 10000
145 [2019-10-23| JIEt =JAZS Jhel N Ol Z OH 10000
146 |12019-10-23| DIEt T3S Jhel N Na= 10000
147 12019-10-23| DIEt T3S Jhel N Ol TH st 5000
148 12019-10-23| DIEt FA3SZ Jhel N FeR2 PN 5000
149 12019-10-23| DIEt T3S Jhel N AT 30000
150 |2019-10-25| DIEt FASE Jhel N ESPAES 10000
151 |12019-11-18| DIEt FTASS Jhel N old= 10000
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e o soa=x =o = | Hlgelgeol 23k | JIRS =o o
=B Ql SAI2==2 2 T o SR oA = 0H (L
152 [2019-11-25| DIttt =333 Jhel N e 10000
153 [2019-11-25| DIttt =3 3S Jhel N ZME 10000
154 [2019-11-25| DIEt =3 3S Jhel N HH Xl = 10000
155 |2019-11-25| DIEt ZEA33 Jhel N BtEet 3000
156 [2019-11-25| DJIEt =3 3S Jhel N AR 5000
157 [2019-11-25| DIt =3 3S Jhel N olg 3000
158 [2019-11-25| DJIEt =3 3S Jhel N S EH 10000
159 [2019-11-25| DJIEt =JAZS Jhel N 20 10000
160 |2019-11-25| DIEt T3S Jhel N OIZ oK 10000
161 |2019-11-25| DIEt T3S Jhel N Nat= 10000
162 |2019-11-25| DIEt FA3SS Jhel N Ol TH st 5000
163 |2019-11-25| DIEt FASS Jhel N FeR2 PN 5000
164 |12019-11-25| DIEt FASS Jhel N HHT 30000
165 |2019-12-18| DIEt T3S Jhel N old= 10000

12/13




At

e o soa=x =o = | Hlgelgeol 23k | JIRS =o o
=B Ql SAI2==2 2 T o SR oA = 0H (L
166 [2019-12-26| OJIEt =3 3S Jhel N e 10000
167 [2019-12-26| OJIEt =3 3S Jhel N iPNES 10000
168 [2019-12-26| OJIEt =3 3S Jhel N g2 et 3000
169 |2019-12-26| DIEt ZEA3Z Jhel N olg 3000
170 [2019-12-26| OJIEt =3 3S Jhel N 01 OH 10000
171 [2019-12-26| OJIEt =3 3S Jhel N Nat= 10000
172 |2019-12-26| OJIEt =JA3S Jhel N Ol XH st 5000
173 [2019-12-26| OJIEt =JAZS Jhel N F=R= PN} 5000
174 |2019-12-26 | JIEt =] 3= Jhel N PSADNS 30000
175 12019-12-30| DIEt TS Jhel N ESPAESS 10000
176 12019-12-30| DIEt FASS Jhel N 20 10000
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